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What do we call a circuit in which there 1s only one single current path?

A series circuit Ao g
A parallel circuit glgid )
A short circuit sbigh 3

A current divider circuit M gad 4
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What is the current passing through resistor (R =18Q) in the circuit?
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If a branch with a resistor 1s added 1n parallel to a parallel resistors circuit, the equivalent
resistance .

INCLeASEs Jag
decreases g2
remains the same AL 3

becomes infinity Wil 4
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What is the current (I) in the circuit?
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What 1s the equivalent resistance connected to the battery in the circuit?
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Which of the following statements 1s correct about the magnet shown in the figure?

X represents North pole and Y represents South pole

e

e L ssn
B v X represents South pole and Y represents North pole
& - 2 el bl Jii Y 5 o giadl Caadl) Jiai X 2

X represents North pole and Y represents North pole

el bl Fai Y5 il el Jis X 3

X represents South pole and Y represents South pole
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According to the figure. At which point the magnetic flux is lowest?
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Which of the following factors will not affect the magnetic field strength of a solenoid?
¢ sl el aadalinall Jlaall 308 3 i Y Al Jalsall e

Strength of current Jallid
Radius of solenoid il Bl )
Core type A bl 3

I of wrap clall e 4
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According to the figure, which point represents north pole?

1 1
2 2
3 3
4 4

According to the figure, which point represents south pole?
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Which of the following is not an application of the magnetic force?

Earbud el 1
Galvanometer PPN )
Armature Sl il 3

Fuse Sl 4
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